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Square Roots. Form A

1. The expression @ is equivalent to?

S

(A)
(B) 5
(C) 2
(D))
(

255

D)
E)

y

. 4,500
2. The expression

(A) V5

(B) 1530
(C) 3V/15
(
(

is equivalent to?

D) 10v5
E)V150

3. The expression 21/7 — 5v/7 + 5v/5is equivalent to?

(A) 2V19
(B) —2v/14 + 55
(C) 55 — 37
(D) 2435

(E) V12

4. The expression 3v/8 — 5v/2 is equivalent to?
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5. The expression V48 — 21/27 + 3v/3 is equivalent to?
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9. The expression (v6)(v15)(y/10) is equal to?

10. The product v9x vV5x3 is equivalent to?
(A)
(B)
(C)x
(
(

5x
xV'5

\/_
x2 V5

1
3
) x
D) 3
E)4

11. Reduce Vm

to its simplest form

12. The conjugate for the expression 5 + V3is?

(A)V3++/5
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13. The product of (v/3++/5) (+/3-+/5) is equal to?

(A) -2
(B)

(C)
(D)
(E) V15

. 5.
=2 ”?
14. The expressmn\/?ls equal to?

5
(D) 15

5V3
()22

15. After rationalizing the denominator, the expression %E is equal to?

2V2
3

(E)

16. For x > 0, after rationalizing the denominator, the expression \/% is

equivalent to?
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+5=15thenx =7

Viz
V5

19. If

A~~~ TS D~

S—r Nt St S S

%+1=3,thenx:?

20.Forx > 0, if
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Answers

>

11.A
12.D
13.A
14.E
15.C
16.D
17.C
18.D
19.B
20.E
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